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N |9 {8 |9,|10 (11 [12(11 |10|9 |8
o [s [71]8% ]9 [10]11]10]0 9
I?G?'391DQ}91D
T |6 |50 (7 |8 |9 |8 9 [10[n
N[5 [47]5 [6-17 48 o [10]11]10
Ela [a-fads5-6 |7 |8 |9 [10]9
T [3 |a 576 [7 |8 |7 |8 [9 |8
N2 Ja7la s |6 [7]8 |7 [8 |7
1 (1 42 |3 |4 |5 |& |7 |6 |7 |B
# |0 |1 |2 |3 (4 |5 (6 |7 |8 |9

# |[E |X [E [C |[U [T |I |O|N
B=F EEER
Ln-gram: S¥fET
198015222 the first 197302 close the window | | 3380 please close the door
194623024 the same 191125 close the door 1601 please close the
168504105 the 152500 close the gap window
following 116451 close the thread 1164 please close the new
158562053 the world 87298 close the deal 11559 please close the gate
B 900 please close the
14112454 the door 3785230 close the * browser
23135851162 the * 13951 please cloze the *

[ door closeths) = 19112
3783230
14112454 3380

door the)=————— door| pl loseth
Adoor the) = Sesti62 Heoor pleasecloseihe) = 1ot

n-gram T EHFR:
s=they buy a new house

zl: pis) = p(they|"start") * p(buy|they) * p(a|buy) *
plnew|a) * Plhouse|new) =15 % .132 * 265 *.0*.092=0

25 ET (Add-one/Delta) . RIEREN FEMIRIITLE.
- 933244 F

— 1446/ 4~ F] 49 73]

V|8 ZFA/N)=1446

— i want to eat chinese food lunch spend

— A Ak S e T

— 2533 927 2417 746 158 1093 341 278
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i want to eat chinese  food lunch spend

i 5 B27 o g 0 a 0 2
want 2 Q 608 1 & 5 5 1
to 2 a 4 635 2 [+] -] 211
b - 0 0 z o 16 z az 0
5 chinese 1 o] o o o 82 i (1}
it food 15 0 15 0 1 a o 0
—f{ lunch 2 a o ] 0 1 0 0
spend 1 1] 1 a 1] 1] o ]
i wiant to eat chinese  food lunch spend
i -] 828 1 10 1 1 1 3
want 3 1 G0o 2 7 7 5 2
-ﬁ':r to 3 nl 5 687 3 1 Fi 212
1 eat 1 1 3 1 17 3 a3 1
it chinese 2z 1 2 1 1 53 z 1
ﬁ- food 16 1 16 1 2 3 | i
lunch 3 nl 1 nl 1 2 1 1
spend 2 1 2 1 i 1 1 i
M—ITHERIFIER: BEEMIN—.
i want o eat chinese food lunch spend
i 0.0015 0.21 0.00025 0.0025 000025 0.00025 0.00025 0.00075
wiant 0.0013 000042 0.26 0.00084  0.0029 0.0028 00025  0.00084
:;-t' o 0.0007 0.00026 0.0013 D.18 0.00078 0.0002& 0.0018 0.055
1 B
*7;5 eat 0.0004 0.00045 0.0014 0.00046 0.007E D.0D14 0.0z 0.00045
[
&

chinese  0.0012 000052 000062 0.00052  0.0D062 0.052 0.0012 0.000&2
food 0.0063 0.00032 0.0053 0.00032 0.00D079 D.002 0.00032 0.00038
lunch 00017 000056 0.00056 0.00056 2 0.00D0D56 0.0011 000056 0.00056
- spend 0.0012 O0D00SE 00012 000058  0.000D53 D.00058 000058 0.0005E

c(wi,wy) +1
ZpLaplace = Z —— =1
wi

cwi—1) + V|
5+1 L _ _
p(i,1) = sean g = 00015 (X EH /THLEELLEXT FEN A 17 H T EE)
2533 + 1446
i wiant to eat chinese  food lunch spend
i 3.8 527 064 8.4 064 0.64 D54 19
?ﬁ":" want 1.2 0.38 238 0.78 2.7 2.7 2.3 0.7B
1 ta 15 0.63 3.1 430 19 0.63 4.4 133
-iﬁ' eat D34 0.34 1 0.34 5.8 i 15 D34
_T:-J chinese 0.2 0.098 0.058 Q.058 0.098 8.2 0.2 0.088
-'[’FI- food 6.9 0.43 6.9 0.43 0.86 22 0.43 D43
—:ﬁ’_ lunch 057 0g 0.1g 0ig (106 L] 0.38 (106 L] 018
spend D3z 0.15 0.32 0.15 016 0.15 0.15 D0.16

count(i,i) = 2533 % 0.0015 = 3.8
2 3B E (Good-Turing Smoothing)

BT C REGHTH: ¢ = (c+ e
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B C RITRIMER: po =5 = (c+ D2

%@5 ﬂ:/_ﬁ-l'l:l =

LANSEHS (REHS RASRAUIHNIELLF)
$I3-1: G=({E.T.F). {a. - * (.)}. P, E)
P E-E+T|T T—T*F |F
F—=(E) a

PRI avata (GBI IR
E=E+T=T+T = F+T = a+T= a+T*F
= atF*F= ata*F = ata*a (A llis)
E = E+T = E+T*F = E+T*a = E+F*a = E+a*a
= T+a*a=F +ta*a=a+ta*a (LIS
2.X 9> IENSCGE (3BISCE) . ETXRARICE (2 BINGE) . ETFXHERICE (1 BXE).
9’F|J 7
?i A->Bx;A->x28: Aboae(NUY )18 adf > ayByEY
SAFIBIREIE AN
Bl 255 30 G(S):
® S - P NP | PP Aux NP @ PP—>P NP
@ NP >NN|NPAuxNP @ P> X T
® NN - {4l | i ® Aux — (K]
ik X THEARCE” KHES.
S = PP Aux NP = PNP Aux NP = X |- NP Aux NP
= K| NN Aux NP = X [ {41t Aux NP
= K PR NP = X FHIRF) NN
= K IR0 S
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=F / NP TAuxYyp \
."Ilrl (L E'I] \
IIlI | NN | NN II‘
\%@ X&)

ISEa R AR —(1)  ASiEeRAR—Q)

FHE XK

LAREENE, iHEmEsEgE
egtf —idf = fy *log (,%)

fir 175k 7 X F T K
1y 155k 7 X B P TLXE S
NXHEREEFEE X1

M T X R E P EE R (175 65]
PR TP

£ =argmax {F‘({:A 'I._)}

—argmax [PE@PGEIED]

k | P(I:I J Bayes= 1|
=argmax  { P(c,)P(x, |, )}
= argmax , {log P(c,) +log P(x, | ¢, )} ™
= argmax | {mg P(c)+log [T Pt |¢) }g-«”’

where n_is the count of term ¢, in document x _
N i ! ’
AT

- éﬁdckﬁig‘i*ﬁﬁ?—:

Pe,)= of training documentsin ¢,

-

— E.4m £ Flo b terms 185 & Mg,

léEKFJ le:)= Zl’ =, M

_—d = ..-;"=]'*1"f

st DI I ¥
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BANE HMERE

17 BGEDEERTTE.
2T EIFERR:

5% b XA o
3Lk R

A2 EATES
P=£><IOO% R=""x100%
N M

F-JMEE{E(F-Measure): 1E#F 5@ F 854 514,
B AT W
(B +D)x PxR

YTy R
x££+

F —measure =

— i, W p=1, B

_ 2xPxR
P+R

SERALERER: (RUEX)

Fl x100%

FMM Ekaid

D) 4 =0, MiiHEr p, FA RN RGO
B, AT F i ERE

Q) HHHE HHTIES p, BT 5 R 78 (WK
Iy KD 0, Wke=1, ¥@4), &K
Fdke M, A =i Wb i K R B

iﬂ]%nﬂi?, A% m=n;
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G T p, iR I N BUEAE A w,, BB
(ay WL w, oSS W IOP I, W, EsIm—A
Yarkedi, e

(b) A w, A b Moyl How, IR T1, 8

w, MAT I i, i)l I G, IR

BEGEF1 . Mfew, /s —1 U1k &, Hw,

fE N masmBlia s, AT ()4
(o) 4R w, MRKJEESIRE p, WAL E, MR p Y

FHAN, @), &N, =itl, &E(2);

() F ) a a2, SRy
4 &P MEE:

BEHEIHFF S=c, c;...c,, EPc;(i=1,2,....,n)
ARNGF, n HEHKE, n=l. AT EK
Ant1 A QLFEG, &0 2R TIRAAY,,
Vi, Vs, ..oy Vyo

81 € € ¢ G Cir1 Cn
@D @S SGE D

Bil: (1) BNTH: 2250 — AR M.
S hetwdi: M) RA Sy —Ax 89 E A6
e R 22 B —A&) 8] IR Fwl

AL ) R B —AY 8 s .
5.[a L RB AEAY:
XA IS FREARRTEE; Bim (FUN. RK). BEm (E|). Viterbi BiEREEEZE

BTLEZ QRO

1AEWEEE (RA—H9ENZERELT):
R: @M EL EBEARHUTHAMAA
o NN for WE N, and N, NFE N

e s NP for WVE N, and WiET
Chomsky SER:

CYK E%:
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(V) PUES i ArAEARTELL)S -
AP FXV iV FUN n=4

(2) F s I - 0 1 2 3 4
(3) %’Lﬁﬁﬁﬁﬁﬂ = 0 P-l-P _52 ___$
/:/ffr V—-\?P—\S\’E
wms—-pve—| 7 X% v |N
VP>V YV O |~
(3)VP>VP N B| filbyp
2MER LTI ESCE (PCFGs) (FhASMKIEK)

Bk
o EAEHBEAIE:
T JX) —E A EXE BT B, E AR
=
= SRR K E G AR
o HiFAHE:
max p(1) = #(Ln, )

7(2,5.NP) (16.5)

W1 w2 w3 w4 ] wi

* Base case definition: for all i=1, ..., n, for XeN

i i X)=q(X > ®)

+ Note define P{X=2w;) = 0if P(X=w,)is not in the grammar
* Recursive definition: for all i=1...n-1, j=(i+1)...n, for XeN

i j.X)= max (¢(X = ¥Z)xa(i.s.¥)xxls+1.7.Z)
7 xo¥zeR / /

seff...G-D}

Bi5HE:
m(3,8,VP) = 0.05
= g(VP>VP PP)
¥ m(3,5,VP)

X 11(6,8,PP) \

NG

VP PP

The dog saw the man with the telescope

1 2 3 4 5 6 T 8
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1 S 1.00 ‘ " Y
g t: S 1.00 RO
/N > o iB
\

NPO.I0  Vpo 7N .
| /P\ \.70 % \\ % K
‘ / NP 0.10 VP 0.30 f’
Astronomers  V 1.00 NP040
b B S
ol \\\ Astronomers VP 0.70 PP 1.00
saw NPO.IS PP 1.00 < e
/\ /7 AR
/ \ V1.0 NPO.1I8 P1.ONPO.
stars P 1.00 NPO.I8 ' J f A

with  ears saw  stars with ears

THERBR RIS ST
P{t1)=SxNP xVPxVxNPxNPxPPx PxNP=10x0.1x0.7x1.0x04x018x1.0x 1.0 x 0.18 =0.0009072

P(t2)=SxNP xVP xVP xVxNPxPPxPxNP=10x01x03x07x1.0x0.18 x 1.0 x 1.0 x 0.18 = 0.0006804

VA= ¥ E

1. k-means Bik: (JRESEJINSNFE)

o AARBHIHK, K
o BIRFMRFH —4-Fu A (centroid )
o BHENMHALRSIBEFCRAY T O LFTE
897& F
o EARLAE:
The basic algorithm:
: select K points as the intial centroids
- repeat
Form K clusters by assigning all points to the closest corroid
Recompute the centroid of each cluster
: until the centroids don't change

Ao L bl e

QLERBRBERE L BUEART, THRTIEEVESRT
IEETNR AR Mt ERT .,

BThE: YBEF

1.IBM1 55
» BikMe=e, e, .o £ E M dHELT:
- ZEKEAME Y TS fffo ofn
- HF - F W TF LA A=0, 04 .0,
— M TfFerAEf, ire‘f’ﬁﬁéﬂﬂd'?;iﬁ?egjiﬁ

A&t p(f| a, e, m):
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m

plf | i, e, m) = ]:[”f_’, | Ea; )
3=1

. t:fj.&ﬁjj&ﬁ:iiiﬂﬁjﬁﬁﬁ SR ERE A

eg,l=6,m=7
— & = And the program has been implemented
— f=Le programme a ete mis en application
—a=1{2,3,4,506,066}
p(f| a, e, 7)=t(Le | the)

X t{programme |program)

X t{a | has)

X t{ete | been)

X t{mis | implemented)

X t{en | implemented)

X t{application | implemented)

Bt p(f, al, e, m): XEBBEHIFT ROMREHER D

- HmED.

m

I . Y
(I+1)m I-[I Wil €ay)

j=

lr||'l,I"_ i | e m) = pla | g _m:|>(||'1|_|[' | fa, e, m) =

-2 E5E7.
plfle.m)=7" p(f.ale.m)
C. RILXMFFHIITHE:

o 3 E EG<f, e>3t, Tulit L E I FabiE .

plf.ale.m)
palf.em) == rrem

_plalem)p(f|a.e.m)
Zp(f alem)

o #h, SR i, THUHEERTRMEMFFL

a*=arg max, p(a|f,e,m)

2.1BM2:
B.fi3t p(f, al, e, m): XEREAREXNF T AME B R EURE
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*qfi]|jlhm)=
#eF eAefd KA 58] AlFemit, Fji-5H30HE
é;»;i/;u;:{.;qq—ft-w;u,

pla|e,m)= Hf,“ﬁf | J.0,m)
i=1
EPa={a, . ayt

s -

sl

IIJ€_||—-h‘|l‘-”J:|=l_III|[r1J .,l.lr.n.l:l”:_.r‘l r,JJ:I

« Eg.,
-l=86
-m=7

— e = And the program has been implemented

f=Le programme a ete mis en application

—a={2,34>5,6,6, 6}

gq(ale, 7)=qa2]1, 5} 7)  p(fla, e, 7)=t(Le | the)

Xq(312,6,7 X t{programme | program)

Xq4]3,6,7) X t(a | has)

Xq(5]4,6,7) X t{ete | been)

Xq(6]5,6,7) X t(mis | implemented)

Xq(616,6,7) X t(en | implemented)

Xq6|7,6,7) X t(application | implemented)
C.EEXFIITE:

o R 2FE ?‘*-éiq%ut W2 T4~ ) Afe,,
3o € o oy s Tn A TSy (=1
Lm) A

a; = arg max gla|j,l,m) x t( f;|eq)
as{0...1}
s E, E.,
;ui Aﬂithe program has beieﬂ implemented

— f=Le programme a eta mis en application

£ 2fmasd H AT, FE:
a<-=MNULL: qi0] 3, 6, 7)*t{a| MULL)
a<->the: gll|3, 6, 7)*tlaland)
a<-»program: q(2|3, 6, 7)¥t(a| program)

a<->implemented: q(&|3, 6, 7)*t{a|implemented)

Mo AR R F KA F A
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3.IBM1. IBM2 H95Efhit:

p | |r|f ) = CDllﬂt(l’. ” Gli ) = Count[_j i.f.m)
ML Count(¢) (i, 1m) = Count(i,{, m)
4 B TIRBAEE:

o — A TFAEEONERFEAKLE:
- —AEIEE R 4EE T B sEE(f, e) R
H R a9 R, e)
- —EEFEE . —FrR FAtrigram (u, v, w)
o LF S dg(w|u,v), eg.,glalso]we, must)
A
s TR ETFEEZNBES: nX |start,-end_, - 1|

. 1 35 5 B H & &2 —
HREE: FEnhEass, BEYHAM, eg,n=2

Today wee shall be

Heute jwerden wir pber die Wiedereronung des Mont-Blanc-Tunnels diskutieren

Score = log g(we|*, Today) + log g(shall| Teday, we) + log q(be|we, shall)

Languagé maodel

+  log t{werden wir | we shall be)

Phrase model

+ i

Y s
S Distortion madel

o Y(x): HTFLEHMATTF x=x...%, YX £
TXE A SEFhaR RS
- BP: Y(x)ZHFAMEIES pyp, ... p AR ESL
o EY(x)EF, B:
| - Fip. kel 8 . x 5 R EPF
1— x ¥ 6y AR AR A A EE
3 FErA fk el ..., (1)), |t(p) + 1-s(pey)] =d .
HPd=0 £ TEAME MR
3 o lder d=4 (—A2Z% FERE)
o kel ZEEL: |Ls(p)|sd
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¢ y=(1, 3, we must also), (7, 7, take), (4, 5, this
criticism), (6, 6, seriously)

* v =1, 3, we must also), (1, 2, we must), (4, 5, this
criticism), (6, 6, seriously) x

* yv=(1, 2, we must), (7, 7, take), (3, 3, also), (4, 5, this
criticism), (6, 6, seriously) x
] #1f: wir mussen auch diese kritik ernst nehmen

¥ = (1, 3, we must also), (7, 7, take), (4, 5, this criticism), (6, B, seriously)

fly) = log p{we|*) + log p{must|*, we) + log p(also | we, must} + ...
+a(1, 3, we must also) + g(7, 7, take) + g(4, 5, this criticism) + ...
+n|1-1|+n|3+1-7| + n|7+1-4] +...

MRAEEE: XNPRE, ETHET

SAREIRAREL. XA KOZRTHY

SB: 1A EEE N HER
2T HEIENT IR S WEEHENEENFAR

VP
,—f‘f\‘%\
L8 WP=, VP,
|
i
3 VF
ki
/>
T
VED VBNx, [N HEx
the gunmen were killed by the police | I
| l 'IIIJ 'nlr.- lJ' rl l were vy
DT :‘m vVH \ iy ¥ KNS
' L' b
Ve
=r . =
FT+E BFRER
1EIHERSI:
13
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AREFIFRAFF WFEEIRFAF (REREEIRFHERF)
REFREL, XETUIMERE.

Trm
amiilicus
be
bnutus
bratus
capiol
Chesar
caesar
cansar
did
enact
hath

docil

PIh = RS R = R R e B e e e

BH#{TEIM:

BF:

term  doc. lreg, postings lisis
- =

EHXE

o XE: BANLERBHEHARANTIATEH
., EeELE A48 4T FT 45 = 49DoclD
— o B, M EDocDEEEFE, KEHHE
HEH—E
— do R F—#, & DoclDst B &9 i54 5 4%

o HRLARESFAITENE:

— A FATI AT RAFA, WA E 2R

KA SRS S ElEL R A
‘q#““F_

ENRERFNEEENER
1

[T [E[ml[am ] |

C'd_pumfa. |1|2|3|5|3|13|21|34|
e T 1 1 T 1 ]

WITEHB: (Caesar A\D Brutus) AND Calpurnia.

2. JUIRST R AREL:

14
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o #AEHEEE (Probability Ranking Principle, PRP)
— plR=1|d) -5 #FdH &R St ndvEme
— p(R=1), plR=0} - #E HHE/ FHELIESLERES
— p(diR=1), p(d]R=0) - &% BlMte X/ T ELEHdEES

11y PEIR=DPR=1)
PR=1]d) =
Pd|R=0)AR=0)
R=0|d}=
PR=0]d) 7

- M-t EHaE 5E.: dAq@fAEXLy, FEAE oR
=1/d, q)=P(R=0{d, q)

= - BHAE4EP(R=1]d, g) #7170, FAFTLENHSE

« 3 T4 % 8q, P(R=1]q)/P(R=0|q)A % &,
i, A 0(R|q)
o H, ARIBEAF N ehif &k B

P(FR=17) ﬁP{mR =1, 7)

PER=0,7) ;1PxR=07)

o M: M
o M p(xyIR=17)
ORIZ,§) =0(Rg) - | | 7/———=
(R|Z, ] ) 1='j1 PR =07)

P71 R=1.9)= ] 2| R=1D[ [ £ |R=10)

=TIz —p,).if x; e d.thene, = Lelsee, =0

PX|R=0.9)=T]pPlx |R=0.9)] ] p(x;|R=0.4)
xeD xeD
=JJu (- 1) if x. ed thene =1 elsee,= 0

BIRL: EE->1E0-> HEAE X PERHI, 1HE ORIxg)
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o FF
- FigA. BL T HEAE
- FrAEASEEL, FHEALSFRAAEE ., u,

W =B BE oo e =i
R=1FTE18E=pi 0.8 0.5 0.3 0.32 0.15
R=0BTEIEIRui 0.3 01 0.35 0.23 0.10

Tk EE FES

M P(x|R=1) = (1-0.8)*0.9%(1-0.3)%(1-0.32)*0.15
P(x|R=0) = (1-0.3)*0.1%(1-0.35)%(1-0.33)*0.10
P(x|R=1) / P(x|R=0) = 4.216

B+—= #EEIF. SO

1.PR (PageRank it&)
BEARA: BIFrE fEmH u SED /U SN M (XEBIAE IR E))
. %v@ﬁ‘ﬁﬁ"’l\ﬁ‘ﬁ, PIEECAMAE A Fayfnaf

FEAE

- EHAFEISMNESESESMEEN “EEY

- ﬂ"‘is’ﬁPagERank EIA—FBREHSEF, RETHESCHAE
(MEEHE) #PageRank{E

PR(v) gy sgiussiess
PR(u) = e L(v) Liv): T Bveh &4 A8

v MALITABRA: HA—ARPFEREM T, it
ﬁ- (e-:qur[:llrobal:zfl'ur)I — g EEiFE, :-ﬂTiﬂ

13

.-@—-1;3

— LI —

' % @g{zmﬁi@ (f&BZHALTF) , e EAEFH—

y EBFAT: EAAAuEEES A —AFFIBEPR(Y), B
PageRank{fi, AR A EBALANAEE

v PRluME A T E—AB 8 Bk “gE@” udy M T aghe 3

VLRGR B T b ok st ey A4

HEARE:
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A
.,
AT 0
0.38 0.35 0.25 0
F 1 s
’l L N
B C D 2
A
ml.. o
0125’ 025 Gﬂsa
0T P z
B c) D 5
Al 083, -
ﬂ:uss;___ﬂ‘:z-a’ 4

#£T(0,00,0)..

BF:

PR(A) PR(E)
0.25 0.25
0.75 o

o o
FR(A) PR(E)
0.25 0.25
0.4593  o0.0833
0.25 o
0.0417 ©

o o

0.2083

0.0417

PR(D)

2 B BB B A9 B /RB RS

o —/A~ORALRE (Markov chains ) 8.4

- NAMEE
— N*N&) EAF S aEEp

o BAE—F, HEARBAKFNARS F8—A

o HFi1ijs N, BEPETALIREIASET

——/\/kﬁjﬂ’z%’%ﬁ;ﬂyﬁi

ZPf.r':]

-l

@ .

HEARE:
ORF R IEFE R

» WebB o RELHEEATE LY : R A Hifj2 B A A

ﬁé&?‘% . .ﬂl‘l Al',: = 1; é:-kvﬁmﬂ = G

s NEBATURFHLRIH A8 B EHFELFZP .
— FANEFEHL (PEAT AR T B850

), WA YNKEESTE
- HTREEH, $ELT:

o (1) HamE BT P18 A8 (R EFT M,

FAE)
(2N F R GEREUEHRL -
s (3R F A SEREST i

— i sEEP

010
24 (101)
010

£ a/N

17

QIAN YuaN XUE Fu

B&EA1E1/3



O+1+xa=+3 1+1+s(1—-a)+1*a=+3 O+1+xa=+3

S>(1+2«(1—-a)+1*a=+3 0+1*a~+3 1+2+s(1—-a)+1*a=+3
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Let r, be the vector of user x’s ratings
- ‘rx =Jrr)_l_’ *! tt*j.- r:,. =f*:_» -utJ **;_I
Jaccard similarity measure
- I, I, as sefs
* Cosine similarity measure
— Iy I, as points
sim(x, y) = cos{r, r,) =

Tty
Hirsel I-llryll
* Pearson correlation coefficient

- &, = items rated by both users x and y
— T, T.avg ratingofx, y

zscs'“{"xs - T_;){ryn: - ﬁj

—
|| . - - Y4
lsr_j.?(rl'!‘ -2 "Ill_s.,sq(r_u; - "_l'}

N

stm(x,y) =
R a S
o Zr, PG IER T
o ENH HxmARMEY, 8k B P
49 5% &
o Bl P94 sty FM

1
Fei =5 EyEN Fyi

Tyi = Zyen Scy Ty
fibit A Zyen xy
2.Item-item CF
o W TREG, KB LML
« HEBEMNMTF ZHIESHELF DS
s TUUE A ER F-B FER AR 48 AS
A ) 2 A

S F
_ Z.-‘-.'.\'h'..r]l weoa Sy... similarity of items i and j

v o i ry.-.rating of user x on item j
E P P N{i;x)... set items rated by x similar to i
JeN(ix) U

>
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Users

sim{1,m}

H B - s 4
. e 4 2 1 3 48
2 .2 * - Z 4 3 5 0.41
S
: . - 3 4 2 010
. 4 3 4 2 2 5 £ +1

Predict by taking weighted average: Prewiin ST

rys = (0.41*2 + 0.59*3) / (0.41+0.59)= 2.6 Tix = T

2451
sim(1,2)

) (I g-(LH3+54540), (5| Sttrtszrirs)

jZ{[13454]—(1+3+5+5+4)}2*JZ{[544213]—5+4+4+2+1+3}2

5 6
=—-0.18
EFEAWNEENRRBEXRE.
3. AR R
o SEME AR R 4E B ARG ik
- Z ARk, #HiRg A, QRGAER. Jordan A%,
SVD (Singular Value Decomposition)
* 5VD:
—HEFE-IMENEYEEA (MAT*NF], M>N) |,
ST VAM G R AR AR A=U*SHVT
s U: M*MFPIEZ 4%
oS: MENAAT B HEEATER
=8 o WT: NTNEF|EH 45 493 F
2451
o FIHANNAE F:
— {81%, 37 F F Bob#Tseason 81145 @mEH: [55
0005]"
— W = {7 F 3% Bob8yAa A A 1 ?
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Bob,T = Bob™ * U, * 5,1

[0.4472 0.5373 |
~0.3586 —0.2461
Bob; =[55000 5]x x
; —0.2078 —0.6700 | |0
—0.5099 —0.0597

-0.5316 0.1187 |

Bob,T = [-0.3775 0.0802]

Tom
u 0.8
0.6
0.4
- Bob 0.2
Ben TR
e — o
0.3 -0.6 -0.4 -0.2 0
| -0.2
Fred
0.4
| |

John 06
-0.8

= EEEAAAay A F, EPBen
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